: Can you solve word problems involvi

I can identify the key words.
I can use an empty number line.

. There are 14 biscuits in the tin. Horrid Henry eats 8.

How many are left?

. Horrid Henry has 10 sweets. Moody Margaret takes 6.

How many sweets does he have left?

. Mum makes 16 buns. Horrid Henry steals 9. How many

buns are left?

Dad has 12 ties. Horrid Henry throws 6 in the mud. How
many ties does he have left?

. Mum has 17 sweets. She gives 3 to Peter. How many are

left?

Horrid Henry makes 10 stinkbombs and he uses 6
stinkbombs. How many does he have lef1?

Perfect Peter collected 19 stamps. Henry hides 8. How
many does Perfect Peter have left?



